# PURCHASE DIVISION Advice for approval for credit to supplier

Date: 24 9 20.		Prepared by: SOWMYA							
PO/WO no			PO / WO	PO / WO Date.		26/8/20			
Supplier N	ame	SSIL		PO/WO	PO/WO amount		1,504		
Firm/Comp	oany	East side Re Bill No.	esidency	Anno lina	da 110		ESR		
Sł. No.		Bill No.	0	Bill Date	. 7		Bill amount		
1.	13358			23/9/20		1,504			
2.					(3).(1)		/		
3.						-			
4									
Amount A	– Bills to	tal(Excluding Transport	& Hamali Ch	narges):			1,504		
Sl. No.	DC No	D	C. Date		MRN No.		DC matches MRN		
1.		11298	23	19120	83382		Yes 🗆 No		
2.		1121					□ Yes □ No		
3.							□ Yes □ No		
4.							□ Yes □ No		
Amount B	-Other C	redits:					•		
Amount C	-Other D	ebits:					_		
Amount D	(D=A+B-	C) – Amount to be cred	lited to the sup	pplier:			1,504		
Amount E	- PO / W	O value:					1,504		
Amount F	– Differer	nce (A – E):					_		
Quantity re	eceived as	per PO /WO		∆ Yes □ Exc	cess received	□ Short re	ceived   Other (explain	ained below)	
Is differen	ce between	n PO / Bill acceptable?	/,	□ Yes □ No	(explained be	olow).			
Excess / sh	nort mater	al received	***	□ Approved	- within acce	eptable lin	nits -No (explained)	pelow)	
Close PO / W?O				✓ Yes □ No - wait for balance material □ No (explained below)					
Advance p	aid / PDC	given (deduct when pa	ying)	□ Yes – Rs.	/co No				
Payment -	due date			26.9.2020					
Remarks:					***				
				1					
Approv		Purchase Purchase Officer Manage	e Procur	ement ager/ED	MD	Accounts receiver of bill		Accounts Manager	
Sign:		ough to	060	CT 2020					
Date			MINIS	H PARIKH		4			

Notes: 1. In case amount to be credited to supplies the BOS total aces not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve Pos/Wos upto Rs. 5,000/-, Purchase Manager and Procurement Manager to approve all bills from 5,000/- to 1,00,000/- . 4. Attach JV, Office copy of PO/WO, DCs and bills to this advice. 5. In Amount A, exclude transport, Hamali charges, etc and instead include in Amount B. 6. To be approved by accounts manager if bill value exceeds Rs. 10,000/- 7. MD to approve all bills above 1,00,000/-

## **Summit Sales LLP**

#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:23-09-2020

Cu	stomer Details	S				Invoice No.	13358			
Ea	st Side Residen	cy Annojiguda LLP				Invoice Date.	23-09-2020 70619			
Sy	No. 96/97, An	nojiguda, Near Pocha	ram, Hyderabad			PO No.				
						PO Date.	26-08-202	20		
						Req ID 60074				
GS	TIN: 36AA	HFE3373P1ZX				Req Date	21-09-202	20		
U.	Description of Goods 4005 - Consumables - Broom with stick - NA - nos					Loc Req No	130133			
				HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt	
1	4005 - Consu	mables - Broom with	stick - NA - nos		4	115.00	460.00	18	82.80	
2	4041 - Consu	mables - Mopping st	ick - NA - nos	9603	4	125.00	500.00	18	90.00	
3	4003 - Consu	mables - Bombay Br	oom - Big - nos	9603	6	56.00	336.00	0	0.00	
4	7515 - Station	nery - other - Chalkp	iece - NA - boxes	2509	6	6.00	36.00	0	0.00	
5										
6										
							- 1			
7										
8										
9										
10										
11										
12										
13										
14										
15										
	IGST	CGST	SGST	Total Taxab	e Amount		1,332.00		172.8	
		86.40	86.40	Total Invoice	Amount			1,504.80		

Subject to Hyderabad Jurisdiction



for Summit Sales LLP

Authorised signatory

## Purchase Order

Page(s) 1 Of 1

22-09-2020 14:49:45

Original /

21.09.20 12:56:22

From Company: East Side Residency Annojiguda LLP

5-4-187/3&4, II nd floor ,Soham Mansion, MG Road, Secunderabad-500003

G S T No.: 36AAHFE3373P1ZX

Supplier Details				
Summit Sales LLP				
5-4-187/3&4,II nd floor,S	Soham Mansion,MG Road, Secunderabad	Doc No	70619	130133
	No. 1, 10 Road, Secunderabad	Doc Date	26-08-202	20
GSTIN 36ACQFS2044C1	Z7	<b>Quote No</b>	Nil	
040-66335551	9618244433	<b>Quote Date</b>	26-08-202	0
	7010244433	SupplyType	Supply	
(ind Attm. II-				

### Kind Attn: Hamendra, Prabhakar

Purchase Order for the Supply of following Items.

Item Name	Otto	_			
1 4005 - Consumables - Broom with stick - NA - nos	Qty	Rate	Dis%	GST	Amount
	4.00	115.00	0.00	18.00	542.80
2 4041 - Consumables - Mopping stick - NA - nos	4.00	125.00	0.00	18.00	590.00
3 4003 - Consumables - Bombay Broom - Big - nos	6.00	56.00	0.00	0.00	336.00
4 7515 - Stationery - other - Chalkpiece - NA - boxes	6.00	6.00	0.00	0.00	36.00
Rupees: One Thousand Five Hundred Four and Paise Eighty O	niv.	Total Ord	ier Value		1,504.80

#### Terms and Conditions :-

Specification /

As per details given in the quotation.

**Payment Terms** 

After Delivery & Production of bill

Tax

All taxes included in above price.

**Delivery Date** 

Next Working Day.

**Delivery Location** 

East Side Residency

Sy no 96/97, Annojiguda, Near: Pocharam, Hyderabad-501301

Phone. 9121309555

Penality For Delay Nil

Transportation

Transport cost shall be borne by us.

Warranty

Nil

**Advance Paid** 

Nil

Other Terms

We reserve the right to reject items not conforming to quality and specifications. Above order for site use purpose.

**Completion Date** 

NA

Measurment

NA

Security

Nil

Remarks

or East Side Reside	ncy Annojiguda LLI
---------------------	--------------------

Accepted the above Terms And Conditions

Authorised Signatory

Contact

For Summit Sales LLP

Name:

Name:	
-------	--

Date : \_\_/\_\_/\_\_

Comp	pany Name:	East Side Annojigud	Residency da LLP		Date: 21-09-2020					
Site & Phase : East Side			Residency Tir					11:21		
Supp	lier	SSLLP		Req. No.				130133		
Mate	rial required before date:		30-09-2020		ID No.			60074		
No	Descri	ption		Si	ze	Quantity	Units	Inward No	Date	
1	Broom stick			s	td	04	No's			
2	Mopping stick		******	S	td	04	No's			
3	Bombay brooms		. 101	laı	ge	06	No's			
4	Chalk piece	10619		S	td	06	Packets	S		
5						\				
6										
7	7					APPRO)	JED			
						21 SEP	2020			
9						LIONE	ARIKH			
10				MINISH F	CUREMENT					
Rema	arks: - For site office and mo	odel flats cl	eaning purpose			1770 17 17				
Prep	ared By	Sharvani			Approved by					
Sign.	& Date	21-09-20	20		Sign. 8	& Date				

#### DELIVERY CHALLAN

## **Summit Sales LLP**

#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:23-09-2020

Customer Details	DC No.	11298	
East Side Residency Annojiguda LLP	DC Date.	23-09-2020	
Sy No. 96/97, Annojiguda, Near Pocharam, Hyderabad	PO No.	70619	
	PO Date.	26-08-2020	
	Req ID	60074	
GSTIN: 36AAHFE3373P1ZX	Req Date	21-09-2020	
GDIII - DVIII II DEE (VI III I	Loc Req No	130133	
Description of Goods		HSN/SAC	Qty
1 4005 - Consumables - Broom with stick - NA - nos			4
2 4041 - Consumables - Mopping stick - NA - nos		9603	4
3 4003 - Consumables - Bombay Broom - Big - nos		9603	6
4 7515 - Stationery - other - Chalkpiece - NA - boxes		2509	6
5			
6			
7			
8			
9			
10			
11			
12			
13			
14			
15			
16			
17			
18			
19			
20			
21			
22	VARD		
LO DESCRIPTION OF THE PROPERTY	Cont. with the residence recognitions over the residence of		
24 Inward No: 118	0-9 De 9- 12		
	82 Dt: 25 9 20		
26 Received By:	Sign: 8		
EAST SIDE	RESIDENCY		
28	THE PLAN IN THE PLAN HE SAYS THE PARTY OF TH		
29			
30			



for Summit Sales LLP

Authorised signatory

Subject to Hyderabad Jurisdiction

### TAXINVOICE



## **Summit Sales LLP**

#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:23-09-2020

	stomer Deta					Invoice No.	13358			
Eas	t Side Reside	ency Annojiguda LLP				Invoice Date.	23-09-20	20		
Sy ]	7 No. 96/97, Annojiguda, Near Pocharam, Hyderabad					PO No.	70619			
						PO Date.	PO Date. 26-08-2020			
						Req ID	60074			
aa	TINI : 26A	A LIEE2272D17V				Req Date	21-09-20	20		
GD	11N · 30A	AHFE3373P1ZX				Loc Req No	130133			
		Description of Go	oods	HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt	
1	4005 - Cons	umables - Broom wit	h stick - NA - nos		4	115.00	460.00	18	82.80	
2	4041 - Cons	sumables - Mopping s	tick - NA - nos	9603	4	125.00	500.00	18	90.00	
3	4003 - Cons	sumables - Bombay B	room - Big - nos	9603	6	56.00	336.00	0	0.00	
4	7515 - Statio	onery - other - Chalkp	niece - NA - boxes	2509	6	6.00	36.00	0	0.00	
5										
6										
7										
8								1 1		
0										
9										
0										
11				and the same	-					
+		<u> </u>	The same of the sa	INWARD	-	2		1		
12			11		24/91	Toll				
			Inward N	A A A A A I Dt	25	May				
13			MRN No	0 ) ) 0	gn:gl					
			Received	8	DEN	Y		-		
14			EAS	SIDE RES	110 014	The state of the s				
15			The state of the s							
	ICCT	CGST	SGST	Total Taxable	Amount		1,332.00		172.80	
	IGST			Total Invoice				1,504.80	172.80	
		86.40 Thousand Five Hu	86.40	1 Otal Hivoice	AIIIOUIII			1,504.00		

for Summit Sales LLP

Authorised signatory